IOW & SLOW

Old Carolina

Barbecue Company~

Original barbecue. AUTHENTIC TASTE

CANTON (BELDEN VILLAGE)

4710 Everhard Road NW (330) 499-3080

Daily: 10:30 a.m.-9:30 p.m.

CANTON (CLEVELAND AVE.)

4403 Cleveland Avenue NW (330) 491-8180

Daily: 10:30 a.m.-9:00 p.m.

MASSILLON COMMONS

2482 Lincoln Way East (330) 833-9030

Daily: 10:30 a.m.-9:30 p.m.

ORRVILLE

1330 North Main Street (330) 930-0300

Mon.-Sat.: 10:30 a.m.-9:00 p.m. Sunday: 10:30 a.m.-7:00 p.m.

ALSO LOCATED IN AKRON, LYNDHURST, MENTOR, STOW, STRONGSVILLE & ANN ARBOR, MI

ORDER ONLINE! oldcarolina.com



IS PORK PERFECTION

Welcome to Old Carolina, the home of True Q.

We discovered **True Q** in the Carolinas, **the Cradle of "Q"** — famous for decades-old recipes, smoked in small roadside shacks by second and third generation pitmasters. They taught us the low and slow secret to great barbecue and we brought that rich tradition north to share with our family, friends and ultimately, Old Carolina restaurant guests.

In the Carolinas, pork IS barbecue.

Whether it's whole hog, whole shoulder or the bone-in pork butts we cook every night, Carolina barbecue starts with real hickory wood.

And authentic flavor can't be rushed, so we cook low and slow for up to 14 hours to serve you barbecue that's a tribute to our Carolina inspiration.

Every sandwich is hand-pulled or sliced to order giving you that **deep-down smoky flavor**. Visit our sauce bar for five distinctive sauces that represent different Carolina regions. You'll find more than one to love.

Our commitment to you is no shortcuts.

Enjoy your meal. We'll see you next time!

TRUE

LOW & SLOW

Pulled Pork Sandwiches

Regular Pulled Pork 5.49

Big 'Cue Pulled Pork 6.99

Make 'em Carolina-style with vinegar sauce and slaw for just .79!

Pulled Pork Plates Served without the bun

Regular Pulled Pork, any side and cornbread 7.99

Large Pulled Pork, any side and cornbread 8.99

Two Meat Platters Great value with 2 meats and 2 sides!

Choose any 2 'Cue Choice meats, 2 sides and cornbread 11.99

Rib Combos

The Carolina 14.99
1/3 Slab plus Pulled Pork with 2 sides and cornbread
The Kansas City 14.99
1/3 Slab plus 1/4 Chicken L/T with 2 sides and cornbread
The Texas 16.99
1/3 Slab plus Beef Brisket with 2 sides and cornbread
The Outlaw 15.99
1/3 Slab plus any 'Cue Choice with 2 sides and cornbread
The Ultimate Sampler Combo 19.99

'Cue Choices Add a third meat to any combo for \$4.

Pulled Pork | Pulled Chicken | Sliced Turkey | Sliced Brisket (add \$1) 1/4 Chicken (add \$1 for B/W) | 3 Jumbo Smokehouse Wings

Ribs, Pulled Pork, Brisket, Pulled Chicken, Turkey and cornbread

TRUE Q AHEAD



Housemade Sides

Any Side 2.19

Choose any 2 Sides 3.49

Pint of any Side 5.99

Simply the World's Greatest Baked Beans

Creamy or Vinegar Slaw

Skin-On Garlic Mashed Potatoes

Fresh-Cut Fries

4 Cheese Mac-n-Cheese

Country-Style Green Beans

Hush Puppies (6)

Hot Apple Sauce

Brunswick Stew

Cornbread Muffins (2)

Kids

12 and under, please.

Includes drink and one side dish.

Pulled Pork Sandwich 5.99

Chicken Tender Plate 5.99

Hot Dog 5.99

Desserts

Banana Pudding 2.49

Boardwalk Bites (6) 2.49

Warm donut holes with powdered or cinnamon sugar.

Salads

Carolina House 6.49

Greens, Carrots, Tomato, Red Onion, Cheddar, Cranberries and Cornbread Croutons

True Q Salad 8.99

Carolina House topped with your choice of Pulled Pork, Beef Brisket, Smoked Turkey, Chicken Breast, Pulled Chicken or Fried Chicken Tenders

Side Salad 3.49

Drinks

Carolina Sweet Tea (or Unsweet) 2.19

Fountain Soda 2.19

Bottled Water 1.29

Coffee 1.29



Family Meal Packs For Carryout

| | Feeds | | Comes With | Price | |
|---|--------|-----|------------------|-------|--|
| | Pack 1 | 3-4 | 1 Meat, 2 Sides | 24.99 | |
| ı | Pack 2 | 3-4 | 2 Meats, 2 Sides | 34.99 | |
| | Pack 3 | 4-6 | 3 Meats, 3 Sides | 44.99 | |

Each Family Meal Pack comes with barbecue sauce, sandwich buns or cornbread muffins.

*Serving size for smoked meats is approximately 1 lb. That's enough for 4 hearty quarter-pound sandwiches. All sides are a pint of each.

Choose your Meats*

Pulled Pork
Beef Brisket (\$2 extra)
Smoked Turkey
Pulled Chicken
Smoked Chicken Pieces
(3 legs, 3 thighs)
8 Fried Chicken Tenders
Half Slab Ribs (6 bones)
Smokehouse Wings (10)

Choose your Sides*

Simply the World's
Greatest Baked Beans
Country-Style Green Beans
Creamy or Vinegar Slaw
Four Cheese
Mac-n-Cheese
Skin-on Garlic
Mashed Potatoes
Hot Applesauce
Brunswick Stew
Hush Puppies (16)

Bulk Menu

| Size | Feeds | Pork/Chicken | | Brisket/Turkey | | Sides | |
|-----------|-----------|--------------|--------|----------------|--------|------------|-------|
| 1000 | The state | PER PERSON | TOTAL | PER PERSON | TOTAL | PER PERSON | TOTAL |
| Quart | 6 | 3.50 | 21.00 | 4.25 | 25.50 | 1.50 | 9.00 |
| Small Pan | 12 | 3.50 | 42.00 | 4.25 | 51.00 | 1.40 | 16.80 |
| Half Pan | 24 | 3.25 | 78.00 | 4.00 | 96.00 | 1.25 | 30.00 |
| Full Pan | 60 | 3.00 | 180.00 | 3.75 | 225.00 | 1.00 | 60.00 |

RBQ

Party Packs Include 1 pan of meat, 2 side dishes, buns and sauce.

| Size | Feeds | Pork/Chicken | | Brisket/Turkey | | |
|--------------|-------|--------------|--------|----------------|--------|--|
| -610 V-17-14 | | PER PERSON | TOTAL | PER PERSON | TOTAL | |
| Quart | 6 | 6.00 | 36.00 | 6.75 | 40.50 | |
| Small Pan | 12 | 5.75 | 69.00 | 6.50 | 78.00 | |
| Half Pan | 24 | 5.50 | 132.00 | 6.25 | 150.00 | |
| Full Pan | 60 | 4.95 | 297.00 | 5.75 | 345.00 | |

Bulk Add-ons

50 Smokehouse Wings - \$39.99 Smoked 1/4 Chicken or Boneless Chicken Breast - \$4.00 each* Full Slabs of Ribs - \$17.00 each* PLEASE ALLOW 24-48 HOURS ADVANCE NOTICE FOR LARGE BULK MENU ORDERS.

Sauce

4.99/bottle (10% Discount on case of 12)

Iced Tea

1/2 Gallon **3.75 each**

Soda

2 Liter **2.50 each**

Old Carolina

→ Barbecue Company ~

Original barbecue. Authentic taste.

PLANNING AN EVENT? =

Old Carolina is available for full-service catering. Ask for a catering or delivery menu.





^{*}Minimum order of 5.